Sechon 3.4 Raotec of ang%k

Learning Goals

Learning Goal

Homework Problems

3.4.1 Interpret the derivative as an instantaneous rate of change. Solve
applications involving rate of change.

23-32.

3.4.2 Solve linear motion problems using derivatives. Find an object's
displacement, velocity, speed, and acceleration.

1-18, 19a, 19b, 20-
22, 33-36.

3.4.3 Analyze the motion of an object given a graph of its position,
velocity, or acceleration.

15-18, 20-22, 33-36.
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1) Suﬂoose. that  s(t) - P'Jsllk:on of oan obde& I\hov'ms
Su‘:‘ooso_ v(E) 1S amphad below .
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The ok()ed- oS .gorooa.nd when v(E)>0: (1L,3), (8,9).
The ob\)ed' moves badkeward when v(t)<o : (49%)

The objeck stands ghll  when v(£) c 0: (3,4), t:=%
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Remack :  in  thic  oxample, we have o(t) = V() = -lo.
So +he acceleration & constant : be\cj feature of free fall.
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laws  h(t) = Se8 ().
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o.) TFind vdoo.\a and accelerabon

b) TFnd d'\cPlaoe_m\e.v\" on [o, ‘%]

* c) At what hmeo i the  nterval
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